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Count each 8 which is not immediately
preceded by 6 but i immediately
followed by either 3 or 4. How many
such 8's are there 7
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Ifall the A's are dropped from the given
arrangement, which of the following
option will be eleventh from the left end
of the given arrangement 7
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In the question given below a statement
is followed by two assumptions
oumbered 1 and II. An assumption is
something that is supposed or taken for
granted. You have to observe the given
statement to be true and then judge
which of the following assumptions
holds valid according to the statement,
Give answer as :
Statement: Do not copy our software
without our permission — A notice,
Assumptions: I It is possible to copy
the software.
II. Such & waming will have some
effect.
(A} If only assumption I1 is implicit,
{B) If both the assumptions I & [I are

4B U implicit.
© D (C) If either assumption 1 or assumption
i I1 is implicit.
_ (D) If only assumption I is implicit.
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In the following question staterments are
given and these statements are followed
by conclusions. Read the conclusions and
then decide which of the given conclusions
logically follows from the given statements,
disregarding commonly known facts.
Statements : Some questions are
answers, Some answers are writers. All
the writers are poets.
Conclusions :

I.  Some writers are answers,
II. Some poets are questions. 3/

IV, Some poets are answers,
(A) Only I and IV follows. |
{(B) Only lLand LUl follows,
(&) Only It and IV follow s.
(D) OnlyIand IT follows.
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Forty boys are standing in a row facing
the North. Amit is eleventh from the left
and Deepak is thirty-first from the right
end of the row. How far will Shreya,
who is third to the right of Amit in the
row, be from Deepak 7
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Rama and Mohan are & married couple
having two daughters named Smita and
Devika. Devika is marmed to Aman, who is
the son of Madhu and Jecwan. Romila is the
daughter of Aman, Krishna, who is Aman's
sister & murmed o Sunil and has two sons
Anuyj and Ankur. Ankur is the grandson of
Madhu and Jeewan, What is the relationship
between Anuj and Romila ¥
{A) Father — Daughter
{B) Cousins
(C) Husband - Wife
1Dy Uncle — Niece
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In a class of 90, where girls g
that of boys, m_s.E._“_E.qE._mSn_ H.M.._H:nnsﬂﬂ
from the top, if there are 10 2irls ahegg
of Shridhar, how many boyvs are after

A) 182 (B) 204 him in rank ?
(C) 199 (o 196 (A) 26 (B} 21 (C) 25 (D) 23
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Find out that answer figure which is
embedded in the question figure.

ﬂﬂoﬂd_w.__ Question Figure

e Avfat [ Answer Figures

. 4WEEd P, Q, R 3§ 9 oF wREw H A
T g8 wewn Prafafes ¥ 1 p o5 s
Tt 2 = I Q PR Y
R, Q % aven ¥ | ofeaw & firk v e ¥ p

Following are some information about a
family consisting of 4 members P, Q, R and
S. P is an adult male end has 2 children. Q
is the son-in-law of P. R is Q’s brother-in-
law, There is just one couple in the family, |
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Qe andxk
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IfP .hu&& +

() denotes * 175
M
R denotes + INE |3g
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Then what is the value of 45 Q 30 P 10
R125157

(A) 202 (B)132 (C) 60 (D) 160

. TR e T e e, -0 W A W, e
woad Sy sy wmoand o R w
HEARAT ¥ R W 22+18-3%5 T A
Eig i %

15 A
If “+" means subltraction, *—' means division,
‘<" means sddiion and %’ means
multiplication. Based on these mformation
what is the vale of 22+18-3%5 7
(4) 25 (B)-25 (C) 185(D) -8
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To the following question, four probable
answers have been given. Select the

most  appropriate  altermative as  the
ANSWEr.

While paszsing through a railway line,
you notice that two trains Fom the
opposite direction are tuning on the same
line, you would-
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If in cerain GRAPHICS is
coded as [OC R, then how 13
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(A) Free 1239, 135 ft o
(B} 12 momfy, 135 Rt e
(C) T H 1:30, 130 i F a2
(D) T 12:30, 130 = A
Wall clock gains 2 minutes in 12 hours,
while a table clock loses 2 minutes every
36 hours. Both are set right at 12 noon
on Tuesday. The comect time when both
show the same time next would be = 7
A) 12 noon, after 135 da

12 midnight, after Ewnn-uﬂ

1:30 at night, after 130 da

12:30 at é%-g%ﬁ

w5 ¥ = il I R

m # | T & aEifts I
farey =7 99 #ifay |
WY A & ae § whh § ) i e ey
¥ are dwar FTE U ST St o
1 Fear & | 9
(A) T |
(B) 79 9T OF 7 TEW TG |
(C) fowan & =€ f6 @ agw sr=ey

ST AT e A W ok
{ [}) RIS T =
To the following question, four probakhle
answers have been given. Select the mst
approprate aliermative as the answer,
ﬂc:ﬁn.ﬂ-i!n&ﬂ:ﬂ..ﬂvﬂg
asks you to take one more ¢ i after
your stomach is full. Yoo wo
{A) take the i
& s i
(C) politely say

Eégﬁﬁﬂnwﬂnﬁﬂﬁg
{D) make a blunt refusal.

-
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o e s e g L et A

wEBE A, B CDLEF,
&t M
TIHB
darhic, A

Gempmm i
ke da kI8, G e 0 3 o A A
iy ofteit T, B g T
e 3 o & b e B E R

ept i B e 42 #

fiirections (), Nox. 75
irbormation green below

ight friends A, B, C,
silling in & circle facing

and T6) 1 Read the

and then answer the

tioms that follow |

p, E, F, G md H are

the centre. B is :i|.1i.|1§
1]

hetween G and D H = third Lo the left o

anid

5,

76,

7.

s

- — ,,_.,....___-,_..—-—--.-———-
s 5 3 T 2 T |
iy v Ta & | T T Eiiid

ST el ]

i e e T

gt & 3 § @ W sorpta et &=

e T (7) i A AR

The om0 T 3,

B i 1o the first figure. Simmilarly,

ane of the figune in the anEaer H]

bears the same relatianshap to the fgure

in the second unit of the prablem figures.
You have o select that froan fhe

oerian

set uf answer figares which woukl come

Second to the cight of A, C is swmg in the place of guestion mark (71
b A and G and B and E nid sitLu
e e g * ik { robli Hyres
e A TR T s oo 0ld , |29
(A €, Dk i e e | l o oo | oo
(B A, sk ERTRATE 2 T
(©) E.Fsepid i l mmﬂi&iﬂl‘ i Amswer Figures
iy,
Whick of the following statements i3 rat Aol \wol lov B0
correct T (A) B 10 (D
[A} C i third o the right of D. 9, EATE WA A, B, CFERD & #H |H
Rt S T (s
sitimg E (4] BHEC
() mﬂhmsmﬂt&wm’:mﬂm E mfaa‘naﬁtumﬁaﬁ#m,maw
 oaber, © 3 el and st T it R A
Eﬁfﬂmmt" . i st O o st ik S T T |
- E‘ﬂ-"h"“ﬂ“!“kﬂ af o i A A, B, D, C w: e R e
® G (A DF | 8 o, o
B s o iy et e @ 30 e o g ::E: : zﬁmlgm
;ﬁﬁﬂgﬂ%;ﬂ ot el # | () qﬁ-q- ﬁ_-ﬂ:&-ﬂ
an & i 30 s =T Rl
y e, =i, o, e
%?-*W“ﬁmwt*h Tmm&a?:ﬂ;mﬂ?uﬁw “E
;TN Wll'\-‘l!‘l-‘ﬂ 25
LAY mnfé B =t plplﬂl.#nﬂ.ﬂ_ﬂﬂuwm'nﬁnghwhﬂﬂ
g e phﬂnﬂ-mdcl.’ltwwmhﬁ.#lﬁ
| iy wad 115 ki, plases B nd C flew towards
E;ﬁmanm&%ﬂ#m their left while plares & nd D also
30 metres @ turmed fowands their lef. “which
South West diroction. AS ﬂﬁ-:.‘.m»ﬁ directions are mmuin.hn.“%.mc
memes in South-Enst Mo, | b e iwel! now 7
% my howe, i ok cfince am | gping 7 A Eﬁh%m
ih) NorthWest  (8) South-West l South, North Norh, South
(C) Souttv-Fast (DY) North-Eas G} Bty West, Bast el
Nk 1
P L

=

rl

2

2

B,

i
- e

[

-
1

ok 1 ?Jlj??

i, wmEERmaiE

Frertiatim w1t B ) s
T
F | Frf e
fi 2 i w

M T wm

L adnpwif

N BRI MFTTE R

(A = e e 1 3 T T S

whe = Ft & o g R

oy i oy i 3 P e e

() R s 1 3t Py e
T B E R i

D i i e 1 T TR 221 WA AT
2 5 o o i

Following question is  having  two

crpterments sumbered [ and 10 You have

to decide whether the data provided in

the pntements arg sufficient 10 ANSWEE

the guestion. Head both [he stalements

and glve angwer.

Who is the Bxther of M 7

1, A and B ore brothers.

1. B'swile is skter of M's wile

(A} If the datn
safficient

(B}

in ptateenent T akone are
10 smswer the question.
(B} If the data even in both  the
statements  together  are nial
sufflciens o answer the guestin.
1f the data gither in 1 or [ alone are
sufficient ta answer ihe question
If the datn in sttemnens 1 alons are
sufficient 1o arswer the question.

qﬁﬂf?ﬁﬁﬂmﬁﬂa*wmiaa,
3k s b, e B s b EC

()
m

e

82,
S 2 27 o st 5 o e e M

=5 sfter 3w ol oft o oy o

=k
(4] L0
(C) dsTd

(B) S5
(o 35

The average age of hushand, wifi 2ad their
and that of

chikl 3 years ago wis 2Tyt
wifis and the chill § yenrs agn was 20 yedars
The present age of the busband is -
(A} 40 years (B} 55 years
[C) 45 years (¥ 35 years
g3, smoss e v e aem R B o
o 4% T P e v e v B
syt b S e B
waT L. A
et e A
{1 v e e, st o e, W
a7 oy e o o S R A
4}
[A}ﬂn‘raﬁ-ﬁl]mmﬁ%]lﬁﬁwh

ki
st 1 foen A
3y [ 2t 3 B e wE T

(B}
el

Ak
f{s)} sy | A T i R
Yau are given B guestion amd WD
statements, Which of 1he sialemenis
fwtare sufficient i answer the question T
Question What & tbe colour of
sunflower 7
Statements

i & md W O ot s D, ¥ I Blue is calisd white, whils is called
U@ g i e O T RS e rod and red s called yeldow.
. gEwtl 1. Yellow is called pﬂ.:l.l]}'h‘. purple is
ﬂ' 5 " = called back, white & called brown
= thlummt@nrupulﬂ:.hgm- Sl brawn is called omnge.
(3 mﬂ?"“‘hﬂﬂﬂm_m"lﬂfﬂ?i [A] Da either i | alone or 11 alone i
H ia siting let of C and right of D, D i sufficient.
sitting 1o the right of F. Find the members (B Diats in 11 ake |5 sulficient.
;inlmiﬂnmﬁdlul'lh:wn'. () Daza in both 1 and 11 together is not
{_ﬁ:} DB {B) F.B gufficsent.
() AF (D) L F (D) Dhata in [ atone & safficiens
* |%'-' 13 1 i II.II i B
- f—t 3
y (ER i+l e Ilr P & i 2 .i

3mmﬁ,qﬁﬁmmﬁﬁaﬁr

b EL

-]



On 5" December, 1993, Wirmala and
Raju celebrated their ormiversary on
Sumday. What will be the day on their
annlvirsiry m 1997 7

and IT. ¥ou heve to assuine everything in
the atslement to be e, then comsider
the two conclugions topether and decide
which of them logically fallows beyond

conchesions — 1 & I are given, You have
w comsider the sintement &5 troe though
it seems o be different from the actusl
facts. Then give your answer regarding

g4, S0 woop R g o R A | gy 4 e e o 5 Pt B9, T e R @ ohe e B - | | s um o § 100w § R 5w dEt 9T
S Srhtommean ke —— SR
= howr kand :
Flad the ke atwess The B et it e wr , fiee e Freell it s e et 3 e wem E e ) st 30 § | w9 fiez At
{A) 39 @) 5 T form w aft B A fir i g, e e 3 s # mﬂmg'ﬁﬂf
=l
(C) e oy 19° wdnpeh wiE & o e o o S R e T e s Ot of 120 siadests [.,ET;MDL £8 can
play all ibo three Cricket, Chess
g5, 7fw, 14 stelmm R g d | Ll mdbim?m i inmh:ppﬁ:m that $
: ; B Ia
145 gl W+ TS WA 6 e v w7 ; 3 oy e ¥ A T e A T mmwﬁ_“%fnm e
T () whem s Pred 1. wfial e e T ot = S E oy Fladenis who can play the Cricket alone
i) ﬁ ¥ et . mkmmhmmlum«unhm
What was the day on 7 December, 19417 ! i, Tl o & R g | who can play Chess alons or Carroms
(A} Moandsy (B} Sunday L. T ] Tt e Frar aEE £ Ex.;u; il
{01 Tissday (D) Saturday iy e Frend 11 s = i 7, o e fef = | {0 a4 (D) 43
91, fr=faim v § dm Xy HRE
6. 5 R, 1003 %1 e o o T RE B TR AN g () Ben2sgeetamt) 7 WE R ¥, SR O IS e
elt it w | 1997 i Tt e () AR s o (B) ik ofr s i = A | R () T R
AR (D) e P | s e & €Cy 1 302w avger e 1 bl %T%mwmﬁwﬂm;
[A) T {B) = In question below is given a sintement (D) e | sgE e i mmwm it
(T e D) uEm fallowed by two conclusions numbered | A swiement s glven & then two m:{ﬁﬁ TR W W
i

The following question consists of & set
of three figures X, ¥ and Z showing a
sequence of folding of n pisce of paper,
Figure (Z) shows the mammer in which

(A) Thursday (B} Tuesday n reasonalbde doubl Fom the information thia &b . the folded b been cut, These
given statement that which of the paper
(C) Friday 0 Wedsesda iven in the slatement, i i theee  figures are fllowed by four
C) LE} o :“k F AR Y r conclusion's wiase Blowsd bj'lm- answer figuares from which you have 1o
b e i prices  are Stmtement: [f be 5 an intelligent, be will choose & figure which woold s
87, R F An sy By f ed @ e W_l:',_lm'hlhtm’ﬂl- pas 10 the sxamination. closcly resemble the unfolded form of
Tl s & o o E, v ww e Concluzions : Concluslon: figure (Z).

S T

I Vepetables are becoming o rare

1. It is required to be an intelligent 1o

Nadrey!

Faur pairs of letter-chusier bave been PRy, I i pass in the examination. 4
given out of which tbres are glike in {]i) Peaple cannat eat vegetables, - 2 Fio will pass the exsmination -
somme manner, while one n different. Only conclugion 11 fallows. {A) Omly 2 fsllows. @ oo
A B
C:lMM'Ibaudd.nm. . (B) Meither 1 por IT fillows. e ) Nk (&) B} | an
I:L] Em-nvx {B) TXE-GWE (C) Esther [ or 1T follws, __,; (C) 1 d 2 both are follow.
1) RRA-OODIN SNE KUK (D) Only conclusion I follaws. T (D) Only ) follows. © 188 ©'8_8
N4 ——
14 + a - £ -2~ 15 N4
oy ab e
- L

g6



F

B

L8

0.

e : v e
oo gt a8 o mf’“”mﬂﬁmumwi'm“
e g g g R B R A o § fis e oy g o & SRR
=TT A A R T :H:mﬁ{t"l% Each question given below

followed by two

Which of the fallowing cube n the aswer
figures canmot be made based on the
ufisldied cube in the question figare T

Wt ST/ Question Figure

D o Ek
w[2f o [H
s

S o st § v A A A
1 Tgenfedt =1 =otm & o S oA #
Ffr wemR T E
In the Ellawing Verm disgram. identify
the Jetter which denotes players wha are
aleo doctors but not artist ;

5,

T |

L #.'ai'c#
# o A

1. i, R
R
(A) e L TR
(B A st g R
() R I T
() T 1] )
SR T e e
Arguments 3
1. Yes, he has to pay less.
1. Mo, paying lnsalments upsets the
(A) Only nt 11 &5 strong.
(B) Meither I por [T s strong.
(C) Either [ or 11 is strang.
(D) Only arguemest | is srong.
e« e ST O AR Wi
e 1, o i e e o B
T N EE
nd, W T & a=wE Rt W
o o TS e A R
(A} 1l e 1w
(B} = S e s o
iC) aAE AR A
(T} Wi et ok R
Stuterment ; [5 kearnirg & confinuous frocess 7
Arguments :

L 'I"ﬁinﬂﬂt is 50 much 1o leam and
we have so little time.

I, i afier
e e o g

the
{A) Ifuﬂg‘mmut Il is strong.

(M) E @) A {B) If both arguments | and [T are strong
cy B D) B+E i () If neither argument [ nor [ & strong.
(D) 1f only argument 1 is strong.
Mg
16 »

96.  Fifrite st i st fia B
How many triangles arc there in the
following figure ¢

(A) 27 (B) 29 (C) BB (D) M0

97, AR TS @ 6 5 e b A I
mw?:qﬁ,qﬁqﬁmaﬁmﬁq
Bachin is younger than Rahul by & years.
If the rte of thedr ages &5 7 @ 9, find the
ape of Sachin.

(A) 21 {B) 14 (C) 12423
fadw (9e-100) : 9 oW F T OW F R
Tttt a0 AR e
ww B AL B, C, D, E, F 30 Gt 8 ofeEe
LA i v i o o] wa 8, =
T v Y | S T SRR TR T TR ST
¥, i e, e, Tfer, e, e B, v afh
v, Wt o e
B = T i e B ol E AR

et wfite o & | o cfofEeET w B oAl

SETERET T T R T | o WA G e

woret i B | D i T e e B e

ay ar-FraT w1 A T 6 & S A

Fret T it 8 | mEEm e ol e

Directions (98-100) : Sudy the following

information carefully to answer fhese questions.

Seven friends A, B, C, D, E, F and U perform

in stage shows on & different day fom

Monday to Sundsy, not necessarily in the

same order, Each one performs & differen:

item, wiz. Music, Dance, Mimicry, Play,

perki .
‘Dance” or ‘Debate’. A performs ‘W‘
which is on the next day of *Speech’. ‘Dance
is bm’puifﬂdm'ﬂinldl}-.

Mnmhpﬂ.wll
E

9H. D R A g wh i e fenr
L&
(A) H - TR
_ (B} ST - s
(T} STEF — T
{0 Firfegh! - weEn

Which item is performed by D and ©
| what day 7
(A} Music - Thursday

P
B} Spesch - Monday -
{C) Play - Wednesday el =

(D) Mimicry - Monday
-mf.E'

i . =

99, arefEEdRT e R o
rd -
Whe performs in Debate ? » '«1"1-'-'
[a) D &
B C -
iy F v I

(D) B

-
o fi

| o0, s
Wha performs Dance 7
(A} F ) 7

(B C®Wor D

-
4

Ty > =

(D

N4
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102,

3.

1 et e

wm-2/Part-3

7T AT/ General AWATEness
101, By & @ ¥ @ g A

) i i A A I AT

(A) peiaager) e, 1972

(B == (e A #h
afiaf, 1974 s

{17 TR (HTE) , 1985

(D) A e 1 dww e B

| 1981
Which among the following laws come
into foree soan after the Bhopal Gas

Tragedy 7
[A) The Wildlifie (Protection) Ad, 1972

{B) The Water {Prevention and Comtnal
of Pollution) Act, 1974

() ‘The Environment {Protection) Act,
1986

(D) The Air {Prevention and Comtrol of

Polbution) Act, 1981
wE # 0 urEE g E sy @
Tarefefiae & & P BeaE W 14af e
T Fen T
() Fw o s (B) R e
{C) e #w (0 Ty i
Recertly, Indian ongm Ajay Banga has
been appointed a5 the 4% President of
which of the bllowng mstiutions ?
{A) World Trade Organization
(B) Weorld Health Crganization
() World Bank
(D) International Momstary Fund
wl am #, Bfaloa & @ T o w

sear fireet o e o g
(A) Fmin (B} =i
() i i) i

“The Bhupen Hazarika Setu” also
peferred as Dhols-Sadive bridge, is the

(4. G i i vt 3 agr Al

et i Fr AR
(A} T (B) ¥
ic) fiem (D) ==

Which country's rescarchers discovered
the “Invisible Gataxy” or “Black Galany'™?

{A) France (B} Russia
(Ch Egypt {2 Ttaly
105, i Ardt % few T § oA == e
1 B TR o
ey (A) 3HH (1) T
iy s iy firfrem

In which state PM  Modi  virually
maugurated “Jal Jan Abhiyan™?

(A} Adsam (B} Rnjasthan
(C) Odisha (D) Sikkim
106, Pt & & fim w3 90 wE, B
wafir = wfta v g A
() firfire (B AT
T T oy Fgm

Which among the following states

launched the “Merp  Rukh, Mem
Santati™-Mew Green Initiative
{A) Sikkim (B) Meghalnys
(C} Telngana (D} Tripum

17, Frefrim & & wi W 2 o @ )
Tt o UEEE WA 3 At e #®
g Ty
iAy T (B) w5
(C) s (o e

Which amang the following countrics is
promoting toursm largeling Incin by

fongest bridge m India over water gpans T e T 2
E:}mu amorsg the tf;;hr"? Hvers 7 i??mg sites. hnl::;.ng;l;mm 7
Desang it oy
[C) Kopili (D) Burni {C} Sri Lanka {0 Greece
LT " -
L_ i

108, ST £ & Py & 8 T ey 8 ey

S il fim e wf B
{a) T (B) g
i) (T} T i ef

The fndion Army installed the tallest
‘leonic Matsonal Flag' in which of the
following stales 7
(A} Meghataya
(B) Chhattisgarh
{C) Haryana
(0¥ Jammu and Kashmir

109, F 3l ot g R dt & et §
¥ e mm w uwde s s 9w

wer & afte meR I
o e Y

(A} T (B
(C) HwTe (D) wht
Unien Minister “Shri Marendra Singh
Tomar" insugurated the seed i
anid storage facility at Indian Grassland
anid Fisdder Research Imstinste st which
of the following place ?
{A) Agra {B) Bareilly
(L) Varanasi ([ Jhansi

10, e v weEn 3 det i g & e
_ Tawit & T ol 9t oivdteiom

112, i i forefefie 6 4 form ey 6 gf

T T e bEz Rl A
(A} et {8)
(C) wwAT (D) A

In which among the fallowing states of
Irndin, has the workl's longest milway
platform been inauguraed 7
(A} Karnataka {B) Bihar
(C) Maharashira (D) Gagarat

113, 7 ¥h7  wwfier (=TT
AT (e ;:?:‘;m w8, A

e
{A) e 4 o o e |
Sl (B) e A S o st E e am |
(€ T F anfd wgmm e o
=

- T |
(D) e § @I‘Eﬁ'ﬂm_ﬁwqa"r{m
T |

When Cash Reserve Ratio (CRR) is
increased by REI{CRE), & will
(A) Increase money  supply in the

ceomamy.
(B) Decrease money supply in the
CCONOMmY.
(Ch Increase  supply  indtially bt

(OO Faren, v e o it =t decrease autommatically larer on.
o S v i mEnfy =l B g (17} Have no tmpact an money supply in
The povernment of Unar Prodesh has the economy.
Eﬁ:ﬂ '}Emf"mm of 'J’“!. .Lm 114, zo0 wiwr & P Firdt & afternadf =t 323
sports of ___ districts under the Khelo e 3 fafie et & ol Sy et
India scheme to include them in the TR = e e S o
CIDOS (Ome District, One Sport) S gE A A
(A (B (O (@7 (A) FEE (B I

111, “SideT wEEAr e S e g a pe
Tlf ﬁ‘lTﬁ'l‘IFhT"l'ﬂTlT? In which dstrnic of Unar Pradesh
{rJ Rt fﬁl kil Mukhyn  Mantri Kanya  Surmangals
() ey () Y- Scheme" has been launched for providing
“Uipcrution SADBHAVANA™ was lunched conditional cash transters 10 gl children
i which stale LT by the Indian Army &t differem stages of their life
(A) Delhi {B) Puducherry (A} Sulanpur 18] Lucknow
{1 Lakshadweep (D) Ladakh () Shapur (D) Pratapgurh

9 ]



e

129. %ﬁﬂﬁaﬂﬁﬂmaﬂﬂ%

:Mﬂﬂa%ﬁn.ﬂs_ﬂﬂﬁnﬂ,ﬁi 119, Hﬂmﬂﬁwﬁgﬂmwﬂﬂﬁwﬁ 124, ﬁ%ﬂ%ﬁnﬂﬁ&%ﬁﬁa eyl -7
¥ ? . =TI (B) HI 33
(A) Farer ferodt w1 qw o1 | (A} 7ET T (B) (&) TR (B) %ﬂn_m M}ﬂ__ w330 (D) SR8
(B) T W Fr weifiE w9 F fog (C) @q (D) et (C) sEwy (D) W ; Which Article of Constitution deals Wib
i sy = Fe = In which of the following states, world's Garo and Khasi are the associate official : ecion fior Scheduled Castes 7
AT I largest river island is located ? languages belonged to which state ? ZmEE_.ﬁbnE._umUn PR
(C) fare =t & wfir wamr | (A} Madhya Pradesh halava (A) Aricle 326 (B} .}.ﬂwn._.w
(D) =T ¥ anft anil & fere wr e | (B) Goa .va H”mr_s “ﬂ (C) Article 330 (D) Article 338
T g of meatamlin”me | 5 S (©) Anies Pradsh 130, Fresfeae 2 el iy 35 el
titution is ;
B Bl | 120, R # & A7 R 9w o (D) Chhattisgarh Hrade
(B) zaumauaﬁﬁﬂawﬂ”ﬂ_an&@ LS 125, Freffag & & # a e o A= T g (A) VVLSI Sfa
the existing system, ﬁ (A) SMadizest  (B) wawwEnfEy FysTe & S e o e B i & 2 @ ® zifeT
(C) Partiality towards Elite class. Anu.mﬁ_m_.:w ) _ﬂ: .. ™ Which of the following = the mq_ﬁ. en M.Mw =
(D) Equal nE.EH.ﬂE..ﬁ.Em S Al sactions H”MwsﬂnﬂﬂaﬂazbiEm is the smallest largest depository presently operational EEMHMMEo H:q.______ﬁm is Ea@:ﬂﬂﬁﬁu
R i (A) Ferur  (B) Occipital GycDsL (@ UBI Ch LS o e
116. “faw wiftys @ e aed s deu (C) Stapes (D) Tibia (A) (D) NSDL (B) Artificial Intelligence
%) 2023 wa T T 7 121. =ity fa s d o (C) BSI . & (C) Transistors
(A) 207 (B) 167 (A) TR weEEE 126, e WA i faver v # e (D) Vacuum tubes
(C) 117 (D) 18ard (B) e e et & o T 2 7 131, Frecae Pt & fre T @ ST
Mwm__ _H..”,n.h_ﬂ%n_ Oral Health Day” (C) TezE sweEe (A) 108 (B) w.ﬂu_"&m ﬂmﬁ:ﬁ —
(A) Aol (D) AT SaTes o= _.ﬁ.u f the Indian (3) waAum.  (E) ﬂ_u.m.ﬂmmﬂ
i Mok 19 What is laughing gas ? In which schedule o e () s (D) FoREEAT
.. {C) March1l (D) March 18 (A) Nitrogen sulphide Constitution powers of panchayats Todar Mal was known &2 o o
117, “wypafes g fifey wvdh e 3 T (B) Nitrogen peroxide stated 7 following 1-Khan
el (©) Nicous onide (A) A wtadake (E) D O o (3) MasirifEl-Divan
(A) swaETEft (B) e 122 ﬁ%ﬂnﬁ.ﬁnﬂ fafi (0)§ Faw - # gafig | 132 ﬁmﬁ&.@mﬂﬁﬁﬂﬂw
ﬁaﬂw_._ﬂ: : mﬁyﬂﬂ%ﬂ .ﬂmﬂ_&%m&swﬁw %_Hﬂﬂm 127. ﬂmm@ﬂﬂ.ﬂ_ﬂaﬂ%ﬁmaﬂ ") ﬁmmﬁmﬂmﬂﬂﬂ
ashupati Seal” is found fro farhr Gy I
site of Indus Valley civilization, b C . (B) FafmE (A) FifEm (B) foEm (B) St v # e & T o
(A) Banwali  (B) Lothal QD (D) RefiBa2 © wew O i T
.. (C) Kalibangan (D) Mohanjodaro important for the  formation  of ‘re} World fimous “Mathania  Mirc (€ s i femresdt &9 3w it
18, Frefefias & & o a2 S, arfdiz & Eﬁﬁmn et belongs to which anwhu e Frfim Al F9ET |
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